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TEMEZLIT DL HITER

INAE BHER — BEEREO —» ELER — BEEER o KFNFESH — RESH/AU5— - BRFERE > HilgEE
T#1{E 13:30 — 13:37 — 13:40 — 13:47 — 13:56 — 14:12 — 14:37 — 15:16
TH#R2(E 15:10 — 15:18 — 15:20 — 15:27 — 15:36 — 15:52 — 16:17 — 16:56
T$§3E 17:10 — 17:18 — 17:20 — 17:27 — 17:36 — 17:52 — 18:13 — 18:52
TFT#4E 19:20 — 19:29 — 19:30 — 19:37 — 19:46 — 20:02 — 20:23 — 21:02
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INZE BHER — BEEREO —» ELER — BEEER o KHFINFESH — RESH/AU5— - BREFERE —» HigEE
T#1{E 12:20 — 12:27 — 12:30 — 12:37 — 12:46 — 13:02 — 13:27 — 14:06
TH#R2(E 14:50 — 14:58 — 15:00 — 15:07 — 15:16 — 15:32 — 15:57 — 16:36
T$§3E 17:10 — 17:18 — 17:20 — 17:27 — 17:36 — 17:52 — 18:13 — 18:52
TFT#4E 19:20 — 19:29 — 19:30 — 19:37 — 19:46 — 20:02 — 20:23 — 21:02




